0 2 4 6 8 1012 14 16 18 20

track x?

berset

N of associated (recoToSim) looper tracks vs normalized X’

o
-
syoeJ) aredydnp

) tracks vs normalized x?

recoToSim)

[{

[N o associated

0 2 4 6 8 10 12 14 16 18 20

[N of reco track vs normalized x2

syoen

track x2

MKFIT_T1_base_noSel
mkFit_TT_retrainOldFiles_v2_8iter2_noSel

DQM_]
DQM_|

N of reco track vs.

I o

N <

00 X

— O

g

o =

—

<

—

N

—

o

—

[ee]

©

<

o

o

I o

N <

00 X

— O

3

© =

—

<

—

~

—

=

S

©

|

<

o~ |
[ FTTTIETI T [ Liiiie
o) — © 6 ~ S
=1 =} 5 =) - o«

syoes By oney




	Contents
	Page 1


